Instructions: Pick the letter which represents the correct answer for each problem. Calculators are not allowed.
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  equals:
[2(sqrt(12^2))-(sqrt12)^2]/sqrt5
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d. 0
144/sqrt5            12/5              [12sqrt5]/5                   0
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 can be simplified to:
[a/(b-c)]-1
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(a+b-c)/(b-c)     (a-1)/(b-c)      (a/b)-(a/c)-1           (a-b+c)/(b-c)
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 using the laws of indices equals:

[(4^2)^-(1)] x 2^-(3)/[2^0 x 4^-(3)]  
a. 4

b.
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c. 
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d. 2

4. Three members of a group are absent. If the absent members represent 12 ½ % of the group, how many are in the group?

a. 25

b. 24

c. 18

d. 36

5.  
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 can be expressed with positive indices as:
{[(a^4)(b^-(2))]/[(4a^-(2)b)]}/{[(b^-(1))]/(8a^2)]}
a. 
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d. 
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(4a^6)/b^3        (a^4)/2b^2          2(a^4/b)^2      (2a^4)/b^3
6.  If x = log3 and y = log5  then log45 is:

a. 2x + y
b. x + 2y
c. 2(2y + x)
d. 3x + 2y

7. If LogaN2 = b then N is:

a. 
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b. 
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c. 
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d. 
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a^b             a^2/b                        b^a               a^b/2
8.  Find the value of x in the following equation 
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[(2x-1)/3]+x/6=1
a. 8/5 

b. 5/8

c. 3/2

d. 2/3

9. A straight line passes through the points (0, 4) and (3, 0). The equation of the line is:

a.  4y – 3x + 0

b. 3y – 4x – 6 = 0
c. 3y + 4x – 12 = 0
d. 3y – 4x – 12 = 0

10. If 
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 is:

f(x)=[4x^2-9]/[2x-3]              f(2a)
a.  
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b. 
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c. 
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d. 
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[8a-9]/[2a-3]      [4a-3]/[2a-3]        [4a^2-3]/2       [4a+3]/1
11. If sinZ = 4/5 and 0<Z<90  ̊ then tanZ is:

a. 5/4 

b. 3/4 

c. 4/3 

d. 3/5

12. A ladder which is l meters long leans against a vertical wall. The angle between the ladder and the horizontal ground is x degrees. The distance that the ladder reaches up the wall is given by?

a. l sec x
b. l cos x
c. l sin x
d. l tan x
_1308725338.unknown

_1308726121.unknown

_1308982068.unknown

_1308982221.unknown

_1308982256.unknown

_1308982376.unknown

_1308982123.unknown

_1308726894.unknown

_1308726945.unknown

_1308726968.unknown

_1308727012.unknown

_1308726921.unknown

_1308726365.unknown

_1308726841.unknown

_1308726214.unknown

_1308725714.unknown

_1308726064.unknown

_1308726099.unknown

_1308725797.unknown

_1308725649.unknown

_1308725683.unknown

_1308725500.unknown

_1308650997.unknown

_1308651292.unknown

_1308725317.unknown

_1308651251.unknown

_1308650927.unknown

_1308650964.unknown

_1308650782.unknown

